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3HQHOLWLDQ�LQL�GLODNXNDQ�XQWXN�PHQHOLWL�VWUDWHJL�NRPXQLNDVL�SHPDVDUDQ�%DGDQ�
8UXVDQ� /RJLVWLN� �%8/2*�� GDODP� SHQMXDODQ� EHUDV� NRPHUVLO� GL� .RWD� 3DGDQJ��
%8/2*� PHUXSDNDQ� OHPEDJD� SHPHULQWDK� \DQJ� GLEXDW� GHQJDQ� WXMXDQ� XQWXN�
PHZXMXGNDQ� NHGDXODWDQ� SDQJDQ� PDV\DUDNDW�� %8/2*� MXJD� PHPLOLNL� IXQJVL�
NRPHUVLDO�\DQJ�SHUOX�GLWHOLWL�NDUHQD�NHWHUEDWDVDQQ\D�PHQJJXQDNDQ�PHGLD�SURPRVL�
GDODP�PHODNXNDQ�SHQMXDODQ��

3HQHOLWLDQ� LQL� PHQJJXQDNDQ� SHQGHNDWDQ� VXUYH\� ODSDQJDQ�� 3HQXOLV�
PHQJXPSXONDQ� GDWD� ODQJVXQJ� GDUL� %8/2*� 'LYUH� 6XPEDU�� %HUGDVDUNDQ� KDVLO�
\DQJ� GLSHUROHK� WHUVHEXW� SHQHOLWL� GDSDW� PHPEHULNDQ� NHVLPSXODQ� WHQWDQJ� VWUDWHJL�
NRPXQLNDVL�SHPDVDUDQ�%DGDQ�8UXVDQ�/RJLVWLN� �%8/2*��GDODP�SHQMXDODQ�EHUDV�
NRPHUVLDO�GL�.RWD�3DGDQJ��6WUDWHJL�\DQJ�GLJXQDNDQ�DQWDUD�ODLQ�'LUHFW�0DUNHWLQJ��
3XEOLF� 5HODWLRQ�� :RUG� 2I� 0RXWK�� %HUGDVDUNDQ� NHWLJD� VWUDWHJL� \DQJ� GLJXQDNDQ��
'LUHFW� 0DUNHWLQJ PHUXSDNDQ� VWUDWHJL� \DQJ� SDOLQJ� EDQ\DN� GLJXQDNDQ� GDODP�
PHODNXNDQ�SHQMXDODQ�EHUDV�NRPHUVLO��
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